(—4x - 5)% & H7HsHAE?

O -8x%2-20x-25 @ —-8x%2-40x-25
® 16x% +20x + 25 @16x2 +40x + 25

® 20x%2+10x+5

(—4x)2 + 2 x (=4x) X (=5) + (=5)2 = 1632 + 40x + 25
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(x +)? = 2* + 2xy + y*(m?)
(x—y)? = x* - 2xy + y*(m?)
@(X+y)(x—y) = x? —y?(m?)
(x +y)(x—y) = x* + y*(m?)
(

x+y)(x+y) = x* 4 y*(m?)

Mz 2T 7k29] 40| (x4 y)m, A2 Zo] (x-y)m
FZO ol ! (x+y)(x—y) = 2* - y*(m?)




4. (x=3)(2x+2) & oW A2 A5ESE Zlolck. ojy] o] | A2

@ 2x2-4x-2 (@)2x2—4x—6 ® 2x2-5x-6

@ 2x2-4x+3 ® 2x2—4x+1

(x=3)(2x+2) =2+ + (-6 +2)x—6
=2x2—4x-6




2a—b) (—3c - 3d) =

—6ac+[  |+3bc+3bd A |t

(2a — b) (=3¢ — 3d) = —6ac — 6ad + 3bc + 3bd




6. (x+3)(x-2)+ (x—3)(x+5) & Zto] o}H?

D x2+3x-21 @ x2+6x-15 ® 2x2+3x-15

(@)2x2+3x—21 ® 2x24+6x-6

(x+3)(x—2)+ (x-3)(x+5)
=x24+x-6+x2+2x-15
=2x%+3x-21
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(3x = 2)(3x + 2y — 2) &] FAZRA oA x O] Al=?

O -16 @—12 ® -8 @ 4

B

(3x—2) = AR X|gstHA
(FolX A=A (A +2y)

= A? 4 2Ay

A=3x-2E5 HJstH
(3x—2)% +2(3x - 2)y
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o2hA x o] A= —120]t
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9. 3x+(3a+16)x—6 = ATENSHH (x + b)(3x—2) 7} Hef ofuf,
& a+b 9 G427

@ -3 @ -1 @0 @ 2 ® 3

~&B ~

(x+b)(3x—2) =3x* + (-2 + 3b)x — 2b O] B2
3x2 + (=2 +3b)x — 2b = 3x* + (3a + 16)x - 6
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L a=-3 .a+b=0
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@ 2x @ 2x+1 ® 2x+2

@ 2x+3 ®)2x+6

Holol &2 x2 +6x+5=(x+5)(x+1) o|BZ
Ho] dol7t 242t x + 5, x + 1 1 Az ot

whebA] Fhaet Al2o] e 2x + 6 o]tk
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ol o, = AA4le] ghg o)

T

® 2x-4y+4z (@)2x—4y—4z ® 2x-4y+ 3z

@ 2x 44y +4z ® 4x-2y-4z

~&B

x—2y=A 2} o}H
A(A -4z) - 1272 = A% - 4Az - 1272

= (A-62)(A + 22)

= (x=2y-62)(x - 2y + 22)
L (x=2y—6z)+ (x—2y+2z7) =2x—4y -4z
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13. (x-3)(x* +9)(x + 3)= A75tH?

D x2-9 @ x?-81 ® x*-3
@ x*-9 @x4—81

(x=3)(x+3)(x>+9) = (x> -9)(x2 +9) = x* - 81
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x Y ATt 17olBR
5—3a=17

—3a =12

SLoa=-4

A FAE o185t (x—a)(3x+5) & A7NstAE wll, x o A4t
17 olt}. o] A4 a o Fh& Fotoi et
> E
> HE a=-4
(x—a)(3x+5) = 3x*> + (5 - 3a)x — ba
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~&B
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webd HE 9] 2ol b— (a—b) = 2b—a ©|th
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D 5.8x6.2 ® 51x49

@ 98 x 102 6

D, @, ®, @ (a+b)(a-b) =a* - b?
@(X"‘(l)(X"‘b):x +(a+b)x+(1b




17. 4x-3°l4x* —ax+6 9] 152 w, a o] L& Fotol=t

> E.

> Hea=11
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4x? —ax+6 = (4x = 3)(x + p)
=4x% +4px-3x-3p
=4x* + (4p-3)x-3p

-3p=6, p=-20°|1,

4p — 3 = —a, a = 11 °|t}.




18. ©]x}A4 9x2 + 10x — k 7} SAAFAl0] = ufj, A< k 9] Fh2?
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19. o 27190 a-b—c+d ] g Fstofzt

7]
@ 22 +2x—15= (x-3)(x+a)
© 2x2 +10x+ 12 =2(x + 3)(x + b)
© (x+c)(x—c)=x2-9 (c>0)

@ -2x2 - 16x—32 = -2(x + d)?

Ch "
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[ 2
> =g 4

~&B

Dx2+2x-15=(x-3)(x+5) ~a=5

©2x2 +10x+12=2(x+3)(x+2) ~.b=2

© (x+3)(x-3)=x2-9 c=3

©® 22— 16x-32= 2(x+4)2 ~d=4

et a=5 b=2 ¢c=3,d=49B2a-b-c+d=4
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20. Fo@A 2 -bx-a, 2 —x-b 2 FEA ATt x-3 L W, a+b

o] g& Fsfolel.

(1) ¥*-5x—a=(x-3)(x+a)
= x% + (@ - 3) x - 3a oA
a—3=-5, a=-2
—a=-3a=6
Soa=—6
(ii) 2x2 —x-b = (x-3) (2x + )
=2x%2+ (8- 6)x— 3B °IA
B-6=-18=5
—b=-38=-15
S b=15
a+b=-6+15=9
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@ (x-5)(x+2) @ (x-3)(x+6)
® (x+5)(x-2) @ (x-1)(x+10)
® (x-5)(x-2)

- 9x — 10 A A= -10 = 9HA Bk,
x% - 3x— 18 A x 9] A4 -3 & 9| B3ttt
o7 o] &AL x2 - 3x - 10 = (x — 5)(x + 2)
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23. (x+y)(x+y-1)-20 22 AFE| e AL?

@(x+y—5)(x+y+4) @ (x+y-4)(x+y+5)
® (x+y-5)(x+y-4) @ (x-y-4)(x-y+5)

® (x-y-5)(x-y+4)

~&B

x+y=A =2l st

(x+y)(x+y-1)—20 = A(A-1) - 20
=A2-A-20
=(A-5)(A+4)
=(x+y-5)(x+y—+4)




24. (3x+1)2-4(2x-3)? = —(Tx+a)(x—b) 4 W, 2a+b 2] Ft- 5}H?

@ -1 @—3 ® 0 @ 2 © -2

B

3x+1=X, 2x-3=YZE *|golH
X2 —4Y? = (X + 2Y)(X - 2Y)
=Bx+14+4x-6)(3x+1—-4x+6)
=—(Tx=5)(x—=17)

La=-5b="T7
n2a+b=2x(-5)+7=-3
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(x% + 5x + 6)(x% — 3x + 2) — 252 & HI2A| U425

(

(

(x2 —x—12)(x +4)(x - 5)
(x? +2x—12)(x +4)(x - 5)
(

¥+ 2x-12)(x —4)(x +5)

& 7

A

29

~&B

(x% + 5x+ 6)(x% — 3x + 2) — 252
=(x+2)(x+3)(x—1)(x—2)—252
={(x+2)(x = DH(x+ 3)(x—2)} — 252
= (x2+x—2) (x2 +x—6) — 252
x? 4+ x =t 2 X %o,
=(t—2)(t—6) — 252

=12 -8+ 12 - 252

=12 -8t - 240

= (t+ 12)(r - 20)

= (x% + x + 12)(x% + x - 20)
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